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EXAMPLE 1 Evaluate ([, (3x + 4y?) dA, where R is the region in the upper half-plane

bounded by the circles x* + y*> = 1 and x> + y* = 4.
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EXAMPLE 2 Evaluate |. 2x ds, where C consists of the arc C; of the parabola y = x*
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EXAMPLE 4
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(b) Evaluate the line integral | F - dr, where C is the curve given by

r(f) =e'sinti+ e‘costj ostsmw

(a) F: -v%{: ) < 3-\-21%, ‘X.l" ;v}z> = < 'F)L) ;'#,>

m -fx = 3+ Z"Lﬁ = f= rb’-f-lkﬁ ol %

J

= 3 x + xzél,—F %(3,)

M
<
|

7(2/ 3}11

U
—+
1l

I A T Bt B 1

Com/éwnual /ﬂ et d /37 )

f:xly-f-z.x _731“0 am o ?= -‘7—)1[

/

i

- ,
F 1S comdervative

= I?,o(:) (s /Lauf'/n
o .

mcb,fmw,\,t_

(b) [ Poa? = [ P47 f(FO) - f(7)
d c

= )c(o/_é?') —--F(o,{) (o,_ejr)

= (=) F 1 // %grz Je=r




11
We Grem's Fhovem o evelonle the Line (b rad.
J‘( ,_gB) dx —+ (@}2) 0(3' ,  Wheve C s Fhe

S o

c P
éor-w\_a‘.a/vg ? de_ anuu(,u._,_,) 4 & xL_Pgl_g.?, Yo S el

6 Tent C So t«a\a-f' ‘ﬁuz (hner c<irele <&
Fraversed Counter Pock esise cmol the oufer circle «
#Awﬂeo‘ lock vrise

S\d{"-TL’U’\ C Is nea;mhv e &anﬁs;’ 1

>[ P47 B Ceq o
C Q,PPKZ GMS W \\CZ ¢
N
—-C=-Gu-C

IS pos.
5 onemfed.
-3
|
Q_P') o{A (QAI‘V\J gq—-am’i M)
Vg
213
2 (x +g,7') dA = -2 JJ 7 ('r dro{ﬁ’)
o 2

( o) =) 7

—‘—5(zzr)( vr-le - —3m(¢r) = 58T
4 B 2




E\/ouQuﬁ/a [ P A? wlne/ve, F? Y {;ﬁ\z vec tor 'F'bQoL

?(W) :c} T-x ; ond  where C 4 th, eocde
(x-2)" +(y+5) ~ g oy
Soldior,
(,(A»Llj Giveen' S Thm : 2 =
[ Fod? < J —L 44 | s
. (3)( 3

'

H (=) = (1) d4 = —zf d A
D D

= =2 Aveald) = _z (7(3)*) :{/;2772

win[/\euj Using Greem 5 florem -
zbourm‘za—ﬁm % o : F(t) = < 2 F 3 cost, T +3sub >

o<t <21

= dy _ <—-3Sv{,,t/ 3eost > At

<y,-x >
1
-
j F, a7
c - , .

= j <-S+3smt, —(2+43cost) >, <-3smt, 3wt > ok

(7]
21

2T
= j ISsot — 4wt =9 df

= 15 sunt = 9 sm*t — (st — Feos™ ot

2T
= =15 cost - €5t -‘H/ =[_|g,rf



